e

%390 EEMERRLFYIYN—EFERIERERFERIK
Bl FCSBUVILLTA—R ()2

AAIER

8
A RiHE12:00~
20
| 0-2
8
A XREk12:00~
11 8—0
|
8 5—0 0—3
A
6
|
1—1 3—0
PK4—5
B~ F +
IB c =3 ll/ =
FlE o =
Cly L = 7 Al
7 . UL I
L N #% b L 2 %
7 7 = # _.-L_\ F o
1 (- 2 ES = C R fh
e 5 o+ % ? %
X =]
M 6 l_/\ Y ?_ f iﬁl
2 T U5 : L =]
I11¥ B ! R4
I 1 =h
K1 | I I ¥
Ak =2 &B I R
N | — e
1[2] &
FESREXF 0 — 0 N rmasis  RLU—ILFC 2 — 0 o
SERST (% 2 ) 1 omEses NFC 5 (27 0) o zzA—n
PK 4 — 5
[ 2EE 1
FCS/aU2b 3 — 0 N amasis  RLU—TILFC 0o — 2 FHNEREPE
LFa—2 O (5 2 o) o nuEses fille o (g 2 1) HE R
2E | TR H B |
FCHAUL 4 ( 1T - 0) o FHSEHFE BREFCL (0 - 2) , FCHEVIH
LT4—X 7 — 0 BEEKR TA4—AMIKA 0 — 0 LT14—R



